14‑2
(Key Question)  Explain why economic rent is a surplus payment when viewed by the economy as a whole but a cost of production from the standpoint of individual firms and industries.  Explain: “Land rent performs no ‘incentive function’ for the overall economy.”


Land is completely fixed in total supply.  As population expands and the demand for land increases, rent first appears and then grows.  From society’s perspective this rent is a surplus payment unnecessary for ensuring that the land is available to the economy as a whole.  If rent declined or disappeared, the same amount of land would be available.  If it increased, no more land would be forthcoming.  Thus, rent does not function as an incentive for adding land to the economy.


But land does have alternative uses.  To get it to its most productive use, individuals and firms compete and the winners are those who pay the highest rent.  To the high bidders, rent is a cost of production that must be covered by the revenue gained through the sale of the commodities produced on that land. 

14-6
(Key Question)  Why is the supply of loanable funds upsloping?  Why is the demand for loanable funds downsloping?  Explain the equilibrium interest rate.  List some factors that might cause it to change.

(a)
The supply of loanable funds is upsloping because savers will make more funds available at higher interest rates than lower interest.

(b)
The demand for loanable funds is downsloping because there are few investment and R&D projects that yield a high rate of return and many more that will yield a lower rate of return.

(c) The equilibrium interest rate is determined where the interest rate (cost of borrowing the funds) is equal to the expected rate of return (the expected benefit from borrowing the funds and engaging in the investment or R&D project).  The supply of loanable funds may change because of a change in households’ attitudes about saving (tax policies, macroeconomic conditions) or changes in Federal Reserve policies relative to the money supply.  The demand for loanable funds could change as a result a change in technology or a change in the demand for the final product.  If there is either a change in supply of or demand for loanable funds, the interest rate will change.
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(Key Question)  Suppose that the interest rate is 4 percent. What is the future value of $100 four years from now? How much of the future value is total interest? By how much would total interest be greater at a 6% interest rate than at a 4% interest rate?


Four years from now the future value of the $100 equals (1.04)^4x$100 = 117.00 (approx). The total interest equals $17.


At a 6% rate the future value of the $100 equals (1.06)^4x$100 = $126.50 (approx). The total interest in this case equals $26.50.


The difference in interest earnings is $9.50 ($26.50-$17) 
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(Key Question)  Distinguish between nominal and real interest rates.  Which is more relevant in making investment and R&D decisions?  If the nominal interest rate is 12 percent and the inflation rate is 8 percent, what is the real rate of interest?  


The nominal interest rate is the interest rate stated in dollars of current value (unadjusted for inflation).  The real interest rate is the nominal interest rate adjusted for inflation (or deflation).  The real interest rate is more relevant for making investment decisions—it reflects the true cost of borrowing money.  It is compared to the expected return on the investment in the decision process.  Real interest rate = 4 percent  (= 12 percent - 8 percent).
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(Key Question)  How do the concepts of accounting profit and economic profit differ?  Why is economic profit smaller than accounting profit?  What are the three basic sources of economic profit?  Classify each of the following according to those sources:

a.
A firm’s profit from developing and patenting a new medication that greatly reduces cholesterol and thus diminishes the likelihood of heart disease and stroke.

b.
A restaurant’s profit that results from construction of a new highway past its door.

c.
The profit received by a firm benefiting from an unanticipated change in consumer tastes.


Accounting profit is what remains of a firm’s total revenues after it has paid for all the factors of production employed by the firm (its explicit costs) but not for the use of the resources owned by the business itself. Economists also take into consideration implicit costs—the payment the owners could have received by using the resources they own in some other way.  The economist adds these implicit costs to the accountant’s explicit costs to arrive at total cost.  Subtracting the total cost from total revenue results in a smaller profit (the economic profit) than the accountant’s profit.


Sources of economic profit:  (1) uninsurable risks; (2) innovations; and (3) monopoly.

(a)
Profit from assuming the uncertainties of innovation, as well as monopoly profit from the patent.

(b)
Monopoly profit arising from its locational advantage.

(c)
Profit from bearing the uninsurable risk of a change in demand (the change could have been unfavorable).

